2. Grra.Ph of derivative



1‘ Dee volve 1S o 'Fur\(h'm,

o If £(x) is 4he F._m.c.a-.‘oa
linput variable , X) then
we can alse find a ﬁmcho,./
formula for the decrivative

writhen o5 FU(%) (ol with
input Variable , X ).

® Fonﬁulc 'be' f(x) is:

Lim  F(x+R) = £(x)
_ h is the voriable that chaages
and X IS 3’,054 a.lona' for Hhe

ride._
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Calew lare £'(%) 9iue.n:
- A
f(x) = X+ -

| So\uhw\

' @ Setr up the di FGumce ctuohenl'

| |
f(x+h) - “x): X+ h +x+l-. (x-t-x)
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h . h

@ S\MP\\'Fy ‘H\& nume.('a-)-or of ‘Hwt
diCference Quoh:f\*

Goal'. Cancel Cu-er,;l-kmj ia the
numerator that doesnl
have o pac’-o, of 'h..







- Can czl h’s In nu.memhr
| wiHh h in denominater
(amuming h0).

= 1 -+
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X . x-p-;\)

@ | w'\eﬂ h i(\ dMOMi ﬂ‘hf‘ i.f
take limi+ o h=>0,

fpy = Lim 1
| h=->0 X - (X t+h)

= 1+ e
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Examp_!s
Cel C;u‘ed‘t £'(¥) when:

Flx) = J)t_ _
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O Fxth—f00 Jx+h - Jx

COC
@ 'DtFFerente of Hwo Squares: |
o= b = (a-b) (a+h)
| Al
Mulhﬂy ‘l‘P
& bOH'OM by

o+ b +o 3 e ricl .
of Squart. roots in
numerator, e

B

o o h'(J?aT-u-J:T)
()~ (K)”
h- Sk + VX )




h-(VeaR + r—)
= hel
h. (Vx+h +J_)
® =
| = /% L h#0
@ ()= Lim |

h>o Jith + Jx
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2. The Units and Interpretabi
of_the Decivahive
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I+ costs F(A dollacs to exdoact

X ouncenr of weapons 9cacie
Uranium from a don of
uraniom o0re (obl'ained Fom

Niger).
(8)  What are the units of:
() «
(V)  £(x)
(W) £,
(b) L\)\\ai- 15 4he prach‘cal
Man?n_, OF:

£'(8) = 1% 000 ?



Solukion
="

6) (1) Uaiks of loput X are

N oun (e, |
(1) Uaiks oF oulpul £(x) are
dellars. | |

(i) Uniks of _  unibks ol outpul

decrivohve

uaits o€ input

= cdlellars
OuniL»

or dallers rerdw\CG, .

(b) ('@ = 000

g I‘ wrheaitum exdvachion S fﬁ(f‘ldfﬁd

' ounces




